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- 020183 U A2 =X22
1,000, 000 x37H 2 = 3,000

- MMZ Y HEALES £X 20,000,000&x14 = 20,000
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X+:(2000) AF3] W H o S (2410) Kl <40 ME: (2415) KIS ANSI N ALY AIAIE : (220) KERIAFES s Q& ]
! < Hl mi
At = Il =
I 2 S MIE . NIMIE = A A
oHES

- QIEEADNHZAHNMEXCHAHESE )

20,000, 0002 x 1Al = 20,000
- 2 BAZAHMOIIS22~25)(L=180m,B=0.9m)

10,000,000 x 14! = 10,000
-0z EA DNHBAHSARA~IS Y 2L) (L=150m,B=2.7m)

20,000,0002! x 14! = 20,000
-2 (ed)s 2 2,000,000 x14l = 2,000
- MEIIH ZOISAIZ =

OIL=A =8 SHAISEZS & Xl (L=6m,B=5n)

10,000, 0002 x 14! = 10,000

Ol At AFRHZ E A (L=40m,B=1.5m)

10,000, 0002 x 14! = 10,000

o5=2S

- B2Y =XX4& ZAHL=250m, B=10m)

30,000,0002! x 14! = 30,000
- SEat2 HY| 20,000,000 x14!l = 20,000
- JIR(gH)E 2 2,000,000 x14l = 2,000
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Z:(2000) ALSIHEHI  BH: (2400) FEH L XIHARSIHE BH:(2410) KIS RIS (2415) KIS ALSIHEE AL AL KIS : (220) X ALES (2RSS (o988
o = ST = R e im]
o & = & & 8] x
. g HE HAE = of A % = A%
- N=s A4HMZHR AY 20,000,0002Ix 14! = 20,000
SIS

- 18X OtAZ XTI S AHL=250m)
20,000,000& x 14 = 20,000

- 5K (CHE 538HH X&) o2 &I AH(L=95m)
20,000,000& x14] = 20,000

- 5EXW Gt3=5 JHAZAHE ) (L=50m)
10,000, 0002 x 14! = 10,000

- Jt2(¢Y)

on

2= 4,000,000&x14! = 4,000

- Olel0l SEU Ald= 2tel
1,000, 000& x8IH A = 8,000

- Stz dH € MSAIE £

20,000,000 x 14} = 20,000
7,344 7,344 003 Al& =TI
oPEES

- A2 FU=SFAY AIE R0

180,000, 000&x0.72/100

1,296

o
o

o
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AFBIORE &F:(2410) RIoR e Mg (2415) XIS ARSI HEE ALY AIAIEE: (220) RERIAHY [Erses] e8]

04

1(2000) AFSIOHEEHI 241 (2400) FEHL X

J2

]

= P iml
Ol &b <R Ab = ol =
SN AAE = of &b o A=14

in
=

03
rt
oy

- AR FOUSAAY ALY

160,000,000&x0.72/100

1,152
oS

- ARDFOILRAANY ALY

180,000,000&x0.72/100

1,296
osd™

- A E2F=RAY AIZ R0

100,000,000&x0.90/100 = 900
o=oiH

- A2 FE=FAG AL R0

100,000, 0002 x0.90/ 100 = 900
Syl

- ARE FOIHAY AL RO

100,000,000&x0.90/100 = 900
o2

- A2 FU=SFAY AIE R0

100,000,000&x0.90/100 = 900

2417
A2 EAAS 740,000 740,000 0
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1(2000) AbZIOHEH]  2:(2400) FEHL X g &b (2410) K IR MI&:(2417) A7 2B A HIAIEL: (220) XEMIAFS
o = |5 = m
Ao u] im N =
JEOHEL A AE =2 A o = A
200
AL O &F 740,000 740,000 0
220
KEAIAFS 740,000 740,000 0
401
Al&H Y 740,000 740,000 0
(=]
740,000 740,000 0|01 Al&H]
oRELZ
- A2 FOMESHOAY 60,000,000& x 14!
oYUz
- A2 FOIMESHOAY 60,000,000& x 14!

60,000,000& x 14

50,000,000& x 14

50,000,000& x 14
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&1 (2000)AtSIOREl  2k:(2400) FEHL XIS ALSIOHE & (2410) XIS OH Mg :(2417) AR 2 ALY AIAIE : (220) REAI AL (R SAS] [ dA]
2 = 8 4 = | 4 inl
o &b o AF = 9l =
.o NE HAE = of & A= oA Y
cHYS
- AT FOUMBHIAY 40,000,0008x 14! = 40,000
cHES
- A7E FUMEHOAY 40,000,0008x 14! = 40,000
SR
- ATR FOUMSBHIAY 40,000,0008x 14! = 40,000
otols
- A7E FUMEHOA 40,000,0008x 14! = 40,000
MoE 8 2,887,408 2,581,011 306,397
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